XYZ,=98.07,100.0, 118.22

2
a,=ay[(x-x )i
bi-balz/
0= 1, byy= 0,4
X, = 0,110, B, = 0,700
Cugo=[AZ+BY2
6 Ostwaldcolours (0)
of maximum (m) C,
linear colour space Cyg 5. Y)

g N
lllumin. C00, Y, =10C\ Y\=25
Name Range X, ) Z, N vy he A 0
R, 567775 7045 5448 28.71 ‘04555 03523 566 D0

V) 452 775 83.38 9554 3485 039 0.4468 571 463

G492 567 3754 6615 34.83 02709 04775535 535

C! 390_567 5225 7063 1182102167 0.2929 487 596

B 380_492 39.32 29.58 11306 0.2161 0.1625 463 571

M, 567_492 8517 56.96 11309 0.3311 0.2292 535535

W)380_775 98.07 1000 118.22031 03161 100%

N,'360 775 2451 250 2955 031 03161 25%

20 380 775 1765 180 2128 031 03161 18%

Parameter:

Y & Name
llluminant CO0
Y,=100 Y,=25
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